Mt

Rk 3 04

BINMEMEEER T = AKRE (8fF)

ER30F9A24H(A -#)

fExkTF=—Xa—Fk
BASHKETF X a— k

BT =AHBE
FE  MBRBRMT - AXRERITEESR

N = & ¥ # i

T4 LY A — = M E R

L 72 =z Uy — N & [

A S R~ | e O — = B = A
T OE M4 f x &
M FBE - FE HBEF
HHBE & - FH iz



BF188

A Javs 1 2 3 IE
1 B DRFRAR MBI 3—0 2—1 2—-0 141
2 JOIN 0-3 0—-3 0—2 343
3 HATIE—5(A) 1—2 3—-0 1818 241
B JAvY 1 2 3 IE
1 Swing ! Swing ! 2004 2—1 2—1 2—0 141
2 H»H—AH30_H 1—2 3—-0 1—1 243
3 JoOoy 1—2 0—3 0—2 3L
1- 24 REE
B DRZRAR —MEEE .
T ORRAR—IMBIES
Swing ! Swing ! 2004
3 4R ER
HATIE—5(A)
»H—530_F
H—530_&F
56 RTEH
JOIN
JOIN
JoOoy
BF2Ep
AJOys 1 2 3 IE
1 HATIE—5(K) 1—2 3—0 1—1 241
2 H—3308ILHE 2—1 3-0 2—-0 141
3 JEJIERKZ(A) 0—3 0—3 0—2 31z
B7Owv4 1 2 3 B
1 H»H—BH30=HE 1—2 2—1 1—1 34
2 TR TR 2—1 1—2 1—1 24
3 SSTC (A) 1—2 2—1 1—1 14
1-24REE
H—230ELTER
SSTC (A)
SSTC (A)
3-AhIRTEE
HAZIE—3(K)
- HAZIE—25 (K)
T=RTR
56 R EE
JEJIER K (A) —
»H—BH30=H

b—530=%

0.4583

0.4693

0.5777



BF3E8

A Jovs 1 2 3 IE 4
1 D.Z.T.B.N(A) 1—2 1—2 0—2 34
2 TANRYNTC 2—-1 3—0 2—-0 14z
3 JE)IERKZ(B) 2—1 0—3 1—1 24
B Javy 1 2 3 IE 4
1 Feain 2—1 3—0 2—0 14
2 v AH—X13 1—2 2—1 1—1 241
3 BgItebHn 0—-3 1—2 0—2 31
124 R EER
VX9 NTC
Feain
Feain
3 4R ER
JEJIERKZ(B) -
VA —X13
~vAH—X13
564 REE
D.Z.T.B.N(A)
17 Tt A S A
A7 T A IS\
BF4E
AJOvY 1 2 3 IE 4
1 A @ HEEBR{EZEER 3-0 3—-0 2—-0 14
2 TANLR AP RY— 0—3 2—1 1—1 24
3 BRT=RE 0—3 1—2 0—2 31
B7Owv% 1 2 3 IE 4L
1 AYK 0-3 2—1 1—1 24
2 A AR (A) 3-0 3-0 2—-0 13
3 KIETC (A) 1—2 0—3 0—2 3
124 REE
A @ HEEER{EZEEH
A AR (A)
A AR (A)
3-AhIRTEE
UAIVER e ApE Y —
AYK
AYK
566 R TEE
BRT=2&
BRT=RA%
KIETC (A)




BF58

A JavH 1 2 3 IE I
1 =7 3—0 1—2 1—1 2fr
2 ONE PIECE 0—3 1—2 0—2 3f7
3 EBETF =22 (B) 2—1 2—1 2—0 A
B JOvh 1 2 3 IE 4
1 EETF =24 (A) 0—3 1—2 0—2 37
2 NO TENNIS NO LIFE 3—0 3—0 2—0 147
3 H—H30UEH 2—1 0—3 1—1 AT
1-2f0 R E R EpeT =24 (B)
NO TENNIS NO LIFE
NO TENNIS NO LIFE
3-ALIRTEE =7
»H—530ME
H—330LE
56 RTEH ONE PIECE
T =24 (A)
BT =2% (A)
BF6H)
A JOvH 1 2 3 IE 6
1 H—B30FH—Y X 2—1 3—0 2—0 147
2 JEJNERKZ(C) 1—-2 2—1 1—1 207
3 T REZEER 0—3 1—2 0—2 3z,
B JAvH 1 2 3 B 4
1 A AR (B) 3—0 0—3 1—1 PlTA
2 D.Z.T.B.N(B) 0—3 0—3 0—2 BIA
3 Swing ! Swing ! 2018 3—0 3—0 2—0 1452
1= 24 R TE B H—3A30FF—VIXKE
»H—530FF—Y I XKE
Swing ! Swing ! 2018
3-AhIRTEE JEJIERKZE(C) -
JEJIERKZE(C)
A A4 (B)
5- 6L R TE B TR EHEER
T R{EFKE
D.Z.T.B.N(B)
BF7H
A 70v9 1 2 3 4 B 4
1 BT =24 (C) 0—3 0—3 3—0 1—2 3
2 VGRS 3—0 0—3 3—0 2—1 oA
3 Volcano 3—0 3—0 3—0 3—0 107
4 JBJIE & 0—3 0—3 0—3 0—3 A7




TF15

A JOovy 1 2 3 E £
1 ZEBRA LADIES 2—1 2—1 2—0 14
2 TP. JOY 1—2 2—1 1—1 pXiva
3 Bnn Ore 1—2 1—2 0—2 3z
B JOwy 1 2 3 g fi
1 D.Z.T.B.N(B) 2—1 2—1 2—0 14
2 A DGarden 1—2 1—2 0—2 3L
3 T A DR 1—2 2—1 1—1 241
1- 2GR EE
ZEBRA LADIES
ZEBRA LADIES
D.Z.T.B.N(B)
3 ALIRTEE
TP. JOY
TP. JOY
1 DA DR
56 REE
Bnn Ore
JB.?DGarden
JA\DGarden
TF28)
A 7Avy 1 2 3 g fx
1 2L 2—1 2—1 2—-0 14
2 TA)VEK « 2AhaRY— 1—2 1—2 0—2 31
3 Very Berry 1—2 2—1 1—1 241
B Jnovy 1 2 3 g fi
1 = A 2—1 3-0 2—0 14
2 A 1—-2 3—0 1—1 24z
3 JEJERKZE(A) 0—3 0—3 0—2 311
1260 BB
2 TLIAE)
LRI
S
34K TEE
Very Berry
Very Berry
Fo74—
56 REH
JA)VR « Aha Y —
TANK e AR —

JEJNER KR (A)




TF3E

A JOyy 1 2 3 IE 4
1 JEJ TP T 4 —A 1—2 2—1 1—1 ivi 0.5208
2 T )L NTC 2—1 1—2 1—1 34 0.4693
3 AXLFTC(B) 1—2 2—1 1—1 2431 0.5098
B JAwY 1 2 3 IE B
1 NL—F 2—1 0—3 1—1 34 0.3333
2 Clover 1—2 2—1 1—1 2131 0.5
3 | EOFAN-VERE | 3-0 | 1-2 1—1 11 0.6667
JEJTHEFTL T 4— A
1- 2R TEH — 5 B DHRAR —-IEHH]
B DA — (BESHR : il
AFXALTTC (B
3 -4 REEE (B) Clover
Clover
. TR NTC .
5 - 63 IR TE Bk - - T LN NTC
INL—R
TF4ED
AJOvsy 1 2 3 4 g 5z
1 AMU OG 1—2 3—0 1—1 341
2 F =A% (B) 2—1 1—2 1—1 241
3 ST b 0—3 0—3 0—2 4431
4 D B 2—1 3—0 2—0 1431
BJOvY 1 2 3 4 IIE 1
1 D.Z.T.B.N(A) 1—2 2—1 1—1 31
2 Ton Ton A 2—1 0—3 1—1 241
3 T A (A) 1—2 1—2 0—2 44sf
4 AXLTTC(Z) 3—0 2—1 2—0 14z
D B
1-243 —— D H
HRER AXLTTC(Z)
T =A% (B) -
3- 443 \ F=25/r (B
bRER Ton Ton A (B)
AMU OG
5+« 6{iL} AMU OG
BLRER D.Z.T.B.N(A)
(ARSI -
7 - 8{LIIRTE B — - FT=AE T (A)
T =K (A)







	Ｈ30加盟団体戦(秋）結果1
	Ｈ30加盟団体戦(秋）結果2
	Ｈ30加盟団体戦(秋）結果3
	Ｈ30加盟団体戦(秋）結果4
	Ｈ30加盟団体戦(秋）結果5
	Ｈ30加盟団体戦(秋）結果6

